O
TR TALYA
K= 0512%C iy,

Honors Chemistry
Dr. Wilhelm

Worksheet: Colligative Properties

t. Indicate how many particles are formed when the following solutes dissolve:

Sucrose: C‘x’l‘é\n@ WA= Magnesium chloride: N%Cjz i=d
Sodium sulfate: Ney SOy Methanol CHa(s =1\
A=

2. When 5.0 g of CaCl; dissolved in 50.0g of water, what is the boiling point of the
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3. What is the freezing point of an aqueous sucrose solution that has 25.0 g
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4. Determine the freezing point depression of a 0.25M solution of NaCl, given the
assumption that the density of this solution is 1.1 g/ml .

Ne(i] teo [ S0ln o 25w

| = NG c I
4.6 5 |\loo LORG. ,
, 0% Yo, T O g {‘ e
hza% ﬁT ( & &
1 , LO00 £= (NS /5,3{ 2_5\@(25 = OR5C
5 What mass of sucrose should be added to a 75.0g of H,0 to raise the b0111ng pomt

to 100.3°C?
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6. Arrange the following according to decreasing freezing point:

a) 0.15m CH;COOH. b) 0.1m H>804 ¢} 0.1m Mg(NOs); d) 0.1m NaBR
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